
(Remaining instructions on the last page)   ¼’ks”k funsZ’k vfUre i”̀B ij½ 

Roll No. .................................... 

 

O. M. R. Serial No. 

 

B. Sc. (Ag.) (First Semester) EXAMINATION, 2021-22 

(New Course) 

FUNDAMENTALS OF SOIL SCIENCE 

 

 

 

 

Time : 1:30 Hours ] [ Maximum Marks : 100 

Instructions to the Examinee :  ijh{kkfFkZ;ksa ds fy, funsZ’k % 

1. Do not open the booklet unless you are 

asked to do so. 

 1. iz’u&iqfLrdk dks rc rd u [kksysa tc rd vkils dgk 

u tk,A 

2. The booklet contains 60 questions. 

Examinee is required to answer any 50 

questions in the OMR Answer-Sheet 

provided and not in the question booklet. If 

more than 50 questions are attempted by 

student, then the first attempted 50 

questions will be considered for evaluation. 

All questions carry equal marks. 

 2. iz’u&iqfLrdk esa 60 iz’u gSaA ijh{kkFkhZ dks fdUgha  

50 iz’uksa dks dsoy nh xbZ OMR vkUlj&’khV ij gh 

gy djuk gS  iz’u&iqfLrdk ij ughaA ;fn Nk= }kjk 

50 ls vf/kd iz’uksa dks gy fd;k tkrk gS rks izkjfEHkd 

gy fd;s gq, 50 mŸkjksa dks gh ewY;kadu gsrq lfEefyr 

fd;k tk,xkA lHkh iz’uksa ds vad leku gSaA 

3. Examine the Booklet and the OMR Answer-

Sheet very carefully before you proceed. 

Faulty question booklet due to missing or 

duplicate pages/questions or having any 

other discrepancy should be got 

immediately replaced. 

 3. iz’uksa ds mŸkj vafdr djus ls iwoZ iz’u&iqfLrdk rFkk 

OMR vkUlj&’khV dks lko/kkuhiwoZd ns[k ysaA nks”kiw.kZ 

iz’u&iqfLrdk ftlesa dqN Hkkx Nius ls NwV x, gksa ;k 

iz’u ,d ls vf/kd ckj Ni x, gksa ;k mlesa fdlh 

vU; izdkj dh deh gks  rks mls rqjUr cny ysaA 
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Ag-1003 ( 3 )  Set-A 

1. e`nk lajpuk dh bdkbZ ftlesa d.k iaqtksa dk 

{kSfrt v{k Å/okZ/kj v{k dh vis{kk vf/kd 

fodflr gksrk gS] bl izdkj dh e`nk lajpuk 

dks tkurs gSa % 

 
1. Soil structure unit having horizontal axis 

much larger than vertical axis. Such type 

of soil structure is known as : 

(A) fizTeh;  (A) Prismatic 

(B) CykWdh  (B)  Blocky 

(C) IySVh  (C)  Platy 

(D) xksykdkj  (D)  Spherical 

2. e`nk uewuk ,df=r fd;k tkrk gS % 
 

2. Soil samples are collected in : 

(A) xuh cSx esa  (A) Gunny bags 

(B) IykfLVd FkSys esa  (B)  Plastic bags 

(C) ydM+h ds ckWDl esa  (C)  Wooden box 

(D) /kkrq ds crZuksa esa  (D)  Metal containers 

3. e`nk losZ{k.k ds izdkj gSa % 
 

3. Types of soil survey are : 

(A) 3  (A) 3 

(B) 4  (B)  4 

(C) 2  (C)  2 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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4. e`nk vEyh; gksus dk ,d dkjd gS % 
 

4. Soils are acidic for one of the reason : 

(A) de o”kkZ  (A) Low rainfall 

(B) csfld LySx dk iz;ksx  (B)  Basic slag use 

(C) vEyh; iSr`d inkFkZ  (C)  Acid parent material 

(D) lksfM;e dkcksZusV  (D)  Sodium carbonate 

5. vf/kd ih-&,p- okyh e`nkvksa esa lkekU;r% deh 

ik;h tkrh gS % 

 
5. High pH soils are generally deficient in : 

(A) Cu vkSj Mo  (A) Cu and Mo 

(B) Zn vkSj Mn  (B)  Zn and Mn 

(C) B vkSj Fe  (C)  B and Fe 

(D) Ca vkSj Mg  (D)  Ca and Mg 

6. e`nk esa dkcZfud inkFkZ vf/kd gksus ij fuEu 

jax iznku djrh gS % 

 
6. Soil containing high proportion of 

organic matter have the following  

colour : 

(A) ihyk jax  (A) Yellow Colour 

(B) gYdk jax  (B)  Light Colour 

(C) xgjk Hkwjk ;k dkyk jax  (C)  Dark Brown or Black Colour 

(D) yky jax  (D)  Red Colour 
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7. e`fŸkdk ds d.kksa dk vkdkj gksrk gS % 
 

7. The particle size of ‘clay’ is : 

(A) 0-002 feeh- ls de  (A) < 0.002 m 

(B) 0-002 feeh- ls vf/kd  (B)  > 0.002 m 

(C) 1-00&2-00 feeh-  (C)  1.00-2.00 mm 

(D) 0-25&0-50 feeh-  (D)  0.25-0.50 mm 

8. mŸkj Hkkjrh; eSnkuh {ks=ksa dh izeq[k e`nk gS % 
 

8. What is the major soil in the North Indian 

plains ? 

(A) yky e`nk  (A) Red soil 

(B) dkyh e`nk  (B)  Black soil 

(C) tyks<+ ènk  (C)  Alluvial soil 

(D) ioZrh; ènk  (D)  Mountain soil 

9. fuEufyf[kr izns’kksa esa dkcZfud [ksrh  

viukus okyk Hkkjr dk izFke izns’k ?kksf”kr fd;k 

x;k gS % 

 
9. Which of the following states has been 

declared as India’s first state to have 

adopted organic forming ? 

(A) mŸkj izns’k  (A) Uttar Pradesh 

(B) flfDde  (B)  Sikkim 

(C) v#.kkpy izns’k  (C)  Arunachal Pradesh 

(D) ukxkyS.M  (D)  Nagaland 
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10. Hkkjr dh e`nkvksa esa lkekU;r;k dkcZfud inkFkZ 

ik;k tkrk gS % 

 
10. Organic matter content of Indian soil 

generally : 

(A) 0.5-1.0%  (A) 0.5-1.0% 

(B) 0.5% ls de  (B)  < 0.5% 

(C) 1.5-2%  (C)  1.5-2% 

(D) 1-5%  (D)  1-5% 

11. dkcZfud inkFkZ = vkWxsZfud dkcZu × 1-724 dks 

dgrs gaS % 

 
11. Organic matter = organic carbon × 1.724 

is called as : 

(A) cseysu QSDVj  (A) Bemlen factor 

(B) ih&,p QSDVj  (B)  pH factor 

(C) u=tu x.kd  (C)  N-Calculator 

(D) mi;qZDr lHkh  (D)  All of the above 

12. fuEufyf[kr Qlyksa esa mi;qDr ih&,p- ds 

vk/kkj ij lgh lqesfyr ugha gS % 

 
12. Which of the following crops is not 

matched in suitable pH ? 

(A) dikl 5-8&8-0  (A) Cotton—5.8-8.0 

(B) QhYM chu 5&5-7  (B)  Field been—5-5.7 

(C) tbZ 5&7-7  (C)  Oats—5-7.7 

(D) vkyw 4-5&6-5  (D)  Potato—4.5-6.5 
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13. vf/kdka’k Qlyksa dks b”Vre fodkl ds fy, 

-------------------------
 ih&,p- jsat dh vko’;drk gksrh gSA 

 
13. Most of the crops require .................. pH 

range for optimum growth. 

(A) 4-6  (A) 4-6 

(B)  5-9  (B)  5-9 

(C)  6.5-7.00  (C)  6.5-7.00 

(D)  5.0-8.5  (D)  5.0-8.5 

14. xzsukbV 
-------------------------

 izdkj dh pV~Vku gSA 
 

14. Granite is a type of rocks : 

(A) vkXus;  (A) Igneous 

(B) volknh  (B)  Sedimentary 

(C) dk;karfjr  (C)  Metamophic 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

15. e`nk dh xgjkbZ c<+kus ij LFkwy ?kuRo nj dk  

Lrj % 

 
15. When increase the depth of soil bulk 

density rate is : 

(A) c<+rk gS  (A) Increased 

(B) ?kVrk gS  (B)  Decreased 

(C) dksbZ izHkko ugha iM+rk  (C)  No effect 

(D) (A) vkSj (B) nksuksa  (D)  Both (A) and (B) 

16. ènk dfyy fuEu ?kVukvksa dks iznf’kZr djrs gSa % 
 

16. Soil colloidal particles show the 

phenomenon : 

(A) lquE;rk  (A) Plasticity 

(B) vklatu ,oa laltu  (B)  Adhesion and Cohesion 

(C) Å.kZu  (C)  Flocculation 

(D) mi;qZDr lHkh  (D)  All of the above 
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17. ekbdk ¼vHkzd½ 
---------------------

 izdkj dk e`fŸkdk 

[kfut gSA 

 
17. Mica is type of ............... clay mineral. 

(A) 1 : 1  (A) 1 : 1 

(B)  2 : 1  (B)  2 : 1 

(C)  2 : 1 : 1  (C)  2 : 1 : 1 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

18. fuEufyf[kr e`fŸkdk [kfutksa esa dkSu gkbMªkstu 

ca/k ls c¡/ks gksrs gSa \ 

 
18. Which of following clay minerals bounds 

in Hydrogen bond ? 

(A) fcMsykbV  (A) Beidelite 

(B) oehZdqykbV  (B)  Vermiculite 

(C) ekUVeksfjyksukbV  (C)  Mantmorillonite 

(D) ds;ksfyukbV  (D)  Kaolinite 

19. e`nk esa yky jax gksrk gS % 
 

19. Red colour of soil is due to : 

(A) gsesVkbV ds dkj.k   (A) Heamatite 

(B) xks,FkkbV ds dkj.k   (B)  Geothite 

(C) XywdksukbV ds dkj.k   (C)  Gluconite 

(D) esxhekbV ds dkj.k   (D)  Maghemite 

20. fo’o dh e`nkvksa esa dqy fdrus e`nk x.k ik;s 

tkrs gSa % 

 
20. Total soil orders found in world soil : 

(A) 10  (A) 10 

(B)  11  (B)  11 

(C)  12  (C)  12 

(D)  8  (D)  8 
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21. [kknj ènk dks ;g Hkh dgk tkrk gS % 
 

21. Khader soil is also known as : 

(A) fpduh feV~Vh  (A) Clayey 

(B) fpduh nkseV  (B)  Clay loam 

(C) dkadM+h  (C)  Gravely 

(D) cyqbZ nkseV  (D)  Sandy loam 

22. mŸkj izns’k esa dkSu&lh e`nk vf/kdre {ks=Qy 

esa ik;h tkrh gS \ 

 
22. Which soil cover is in maximum area in 

Uttar Pradesh ? 

(A) tyks<+ e`nk  (A) Alluvial soil 

(B) yky e`nk  (B)  Red soil 

(C) ysVjkbV e`nk  (C)  Laterite soil 

(D) ioZrh; ènk  (D)  Mountain soil 

23. dkyh e`nkvksa esa njkj vkus ds fy;s dkSu&lk 

e`fŸkdk [kfut ftEesnkj gS \ 

 
23. Which clay mineral is responsible for 

cracking in black soil ? 

(A) ds;ksfyukbV  (A) Kaolinite 

(B) ekaVeksfjyksukbV  (B)  Mantmorillonite 

(C) oehZdqykbV  (C)  Vermiculite 

(D) bykbV  (D)  Illite 
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24. fo|qr pkydrk dks ekius esa bdkbZ iz;qDr  

gksrh gS % 

 
24. Unit used for measurement of electrical 

conductivity : 

(A) ds/m  (A) ds/m 

(B)  ws/cm  (B)  ws/cm 

(C)  mg/m  (C)  mg/m 

(D) (A) vkSj (B) nksuksa  (D)  Both (A) and (B) 

25. fo|qr pkydrk ehVj ekirk gS % 
 

25. EC meter measures : 

(A) e`nk esa dqy yo.k  (A) Total salt in soil 

(B) e`nk esa ?kqyu’khy yo.k  (B)  Soluble salt in soil 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

26. tc e`nk d.kkdkj oxZ esa 45% ls vf/kd 

èfŸkdk ik;h tkrh gS] rc ml oxZ dks  

tkurs gSa % 

 
26. If the soil textural class has clay content 

more than 45%, then it will be known  

as : 

(A) lS.Mh Dys  (A) Sandy clay 

(B) flYVh Dys ykse  (B)  Silty clay loam 

(C) lS.Mh Dys ykse  (C)  Sandy clay loam 

(D) Dys  (D)  Clay 
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27. I. S. S. S. ds vuqlkj ckyw ds eghu d.kksa dk 

D;k vkdkj gksrk gS \ 

 
27. What is the size of fine sand particles 

according to I. S. S. S. ?  

(A) 2-0&0-2 feeh-  (A) 2.0-0.2 mm 

(B) 20&2-0 feeh-  (B)  20-2.0 mm 

(C) 0-25&0-10 feeh-  (C)  0.25-0.10 mm 

(D) 0-2&0-02 feeh-  (D)  0.2-0.02 mm 

28. fuEufyf[kr esa ls lajpukRed rRo gS % 
 

28. Which of the following is a structural 

element ? 

(A) Mg  (A) Mg 

(B)  N  (B)  N 

(C)  O  (C)  O 

(D)  K  (D)  K 

29. lksye cuk gksrk gS % 
 

29. Solum is made up of : 

(A) A + B + C laLrj dk  (A) A + B + C horizons 

(B) A + B laLrj dk  (B)  A + B horizon 

(C) B + C laLrj dk  (C)  B + C horizon 

(D) mi;qZDr lHkh  (D)  All of the above 

30. fuEufyf[kr e`nkvksa esa ls fdldh mHk; 

izfrjks/kh {kerk vf/kd gksrh gS \ 

 
30. Which of the following soils has high 

buffering capacity ? 

(A) cyqbZ e`nk  (A) Sandy soil 

(B) nkseV ckyw   (B)  Loamy sand 

(C) fpduh ènk  (C)  Clay soil 

(D) nkseV e`nk  (D)  Loamy soil 
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31. fuEufyf[kr esa ls ,d e`nk fuekZ.kdkjh dkjd 

ugha gS % 

 
31. Which of the following is not a soil 

forming factor ? 

(A) tyok;q  (A) Climate 

(B) LFkykd`fr  (B)  Relief 

(C) ueh  (C)  Moisture 

(D) tho  (D)  Organisms 

32. izkI; ty ------------------ ds e/; esa ik;k tkrk gSA 

 
32. Available water is held between ............ . 

(A) lar`Irrk ls eqj>ku fcUnq  (A) Saturation to wilting point 

(B) {ks= {kerk ls eqj>ku xq.kkad  (B)  Field capacity to hygroscopic 

coefficient 

(C) dsoy {ks= {kerk   (C)  Field capacity only 

(D) {ks= {kerk ls eqj>ku fcUnq  (D)  Field capacity to wilting point 

33. ds;ksfyukbV e`fŸkdk [kfut cuk gksrk gS % 
 

33. Kaolinite clay mineral is made up of : 

(A) 2 ijr Si + 1 ijr Al dk  (A) 2 Sheet Si + 1 Sheet Al 

(B) 2 ijr Si + 1 ijr Al + 1 ijr Mg 

dk 

 (B)  2 Sheet Si + 1 Sheet Al + 1 Sheet Mg 

(C) 1 ijr Si + 1 ijr Al dk  (C)  1 Sheet Si + 1 Sheet Al 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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34. fdl e`nk esa csM jksd vuqifLFkr gksrk gS \ 
 

34. Bed rock is absent in which soil ? 

(A) yky e`nk  (A) Red soil 

(B) tyks<+ ènk  (B)  Alluvial soil 

(C) dkyh e`nk  (C)  Black soil 

(D) taxyh e`nk  (D)  Forest soil 

35. fuEukafdr esa ls ,d e`nk oxhZdj.k djus dh 

lcls NksVh bdkbZ gS % 

 
35. Which of the following is a lower 

category of soil classification ? 

(A) e`nk Js.kh  (A) Soil series 

(B) dqy  (B)  Family 

(C) e`nk x.k  (C)  Soil order 

(D) mix.k  (D)  Suborder 

36. fuEu rRoksa dh dkyh e`nk esa deh ik;h  

tkrh gS % 

 
36. Which nutrients are found in deficient is 

black soil ? 

(A) pwuk  (A) Lime 

(B) iksVk’k  (B)  K (Potash) 

(C) yksgk  (C)  Fe (Iron) 

(D) u=tu  (D)  N (Nitrogen) 
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37. vk/kqfud e`nk foKku ds tud gSa % 
 

37. Father of Modern Soil Science is : 

(A) ,e- ,y- Vªax  (A) M. L. Troung 

(B) ts- oh- yhfcx  (B)  J. V. Liebig 

(C) oh- oh- Mksdqpsok  (C)  V. Vasily Dukuchaeva 

(D) cdeSu  (D)  Buckman 

38. d`f”k jklk;fudh ds tud gSa % 
 

38. Father of Agricultural Chemistry is : 

(A) fgyxkMZ  (A) Hilgard 

(B) cdeSu  (B)  Buckman 

(C) ts- oh- yhfcx  (C)  J. V. Liebig 

(D) vjuku vkSj LVkmV  (D)  Arnon and Stout 

39. e`nk jpuk foKku ds vuqlkj e`nk gS ,d % 
 

39. According to Pedology soil is a/an : 

(A) fefJr fi.M  (A) Mix body 

(B) d`f=e fi.M  (B)  Artificial body 

(C) tSfod fi.M  (C)  Biological body 

(D) izkd`frd fi.M  (D)  Natural body 

40. e`nk dh mnxz dkV dks dgk tkrk gS % 
 

40. Vertical section of soil is called as : 

(A) lksye  (A) Solum 

(B) fjxksfyFk  (B)  Regolith 

(C) lrgh e`nk  (C)  Surface soil 

(D) e`nk ifjPNsfndk  (D)  Soil profile 
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41. fuEu esa ls ,d e`nk dk vo;o ugha gS % 
 

41. Which of the following not a component 

of soil ? 

(A) dkcZfud inkFkZ  (A) Organic matter 

(B) [kfut inkFkZ  (B)  Mineral matter 

(C) ty  (C)  Water 

(D) tyok;q  (D)  Climate 

42. e`nk ifjPNsfndk esa laLrjksa dk lgh Øe gS % 
 

42. In soil profile correct pattern of horizons 

is : 

(A) A, B, C, R, O  (A) A, B, C, R, O 

(B)  O, A, B, E, C, R  (B)  O, A, B, E, C, R 

(C)  O, A, B, R, C, E  (C)  O, A, B, R, C, E 

(D)  O, A, E, B, C, R  (D)  O, A, E, B, C, R 

43. ‘A’ laLrj eq[;r% ik;k tkrk gS % 
 

43. ‘A’ horizon is mostly found in : 

(A) lrgh e`nk esa  (A) Surface soil 

(B) v/kZlrgh e`nk esa  (B)  Subsurface soil 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

44. e`nk esa vkSlr flfydkWu dk izfr’kr gksrk gS % 
 

44. Average content of silicon in soil : 

(A) 24%  (A) 24% 

(B)  27%  (B)  27% 

(C)  31%  (C)  31% 

(D)  35%  (D)  35% 
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45. ik’ohZdj.k izfØ;k esa e`nk esa lafpr gksrk  

gS % 

 
45. In lateralization process accumulation in 

soil is of : 

(A) flfydk dk  (A) Silica 

(B) dSfYl;e dkcksZusV dk  (B)  CaCO3 

(C) dSfYl;e lYQsV dk  (C)  CaSO4 

(D) vk;ju ,oa ,yqfefu;e ds vkWDlkbM~l 

dk 

 (D)  Fe and aluminium oxides 

46. fuEufyf[kr iks”kd rRoksa esa dkSu&lk tyks<+ 

e`nk esa vf/kd ik;k tkrk gS \ 

 
46. Which of the following plant nutrients 

rich in alluvial soil ? 

(A) N  (A) N 

(B)  P  (B)  P 

(C)  K  (C)  K 

(D)  Zn  (D)  Zn 

47. Hkkjrh; e`nkvksa esa 
------------------------ 

dh deh ik;h 

tkrh gSA 

 
47. Indian soils are deficient in .............. . 

(A) N vkSj Zn dh  (A) N and Zn 

(B) B vkSj S dh  (B)  B and S 

(C) Cu vkSj Ca dh  (C)  Cu and Ca 

(D) Fe vkSj Mn dh  (D)  Fe and Mn 

48. e`nk ok;q esa CO2 ik;h tkrh gS % 
 

48. CO2 contain in soil air : 

(A) 0.25%  (A) 0.25% 

(B)  20.6%  (B)  20.6% 

(C)  79.2%  (C)  79.2% 

(D)  21.2%  (D)  21.2% 
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49. e`nk dk vkSlr d.k ?kuRo gksrk gS % 
 

49. Average particle density of soil is : 

(A) 1-6 ls 1-8 xzke@lseh-
3

  (A) 1.6-1.8 g/cm
3 

(B) 2-60 ls 2-75 xzke@lseh-
3  (B)  2.60-2.75 g/cm

3 

(C) 1-2 ls 2-5 xzke@lseh-
3  (C)  1.2-2.5 g/cm

3 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

50. fuEufyf[kr esa ,d Qwyus okyk e`fŸkdk [kfut 

gS % 

 
50. Which of the following is an expanding 

type of clay mineral ? 

(A) ds;ksfyukbV  (A) Kaolinite 

(B) ekUVeksfjyksukbV  (B)  Mantmorillonite 

(C) bykbV  (C)  Illite 

(D) DyksjkbV  (D)  Chlorite 

51. fuEufyf[kr esa ls bykbV dk lajpuk lw= gS % 
 

51. Which of the following is structural 

formula of Illite ? 

(A) Al4 Si8 O20 (OH)4  (A) Al4 Si8 O20 (OH)4 

(B)  Al2 Si4 O10 (OH)2 K  (B)  Al2 Si4 O10 (OH)2 K 

(C)  Al4 Si4 O10 (OH)8  (C)  Al4 Si4 O10 (OH)8 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

52. rjkbZ e`nk,¡ ik;h tkrh gSa % 
 

52. Terai soils are found in : 

(A) mŸkj izns’k esa  (A) Uttar Pradesh 

(B) fcgkj esa  (B)  Bihar 

(C) if’pe caxky esa  (C)  West Bengal 

(D) mi;qZDr lHkh  (D)  All of the above 
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53. fuEufyf[kr esa ls dkSu&lk ,d e`nk lajpuk 

dk izdkj ugha gS \ 

 
53. Which of the following not a type of soil 

structure ? 

(A) IysVh  (A) Platy 

(B) fizTeh;  (B)  Prismatic 

(C) CykWdh  (C)  Blocky 

(D) nkseV  (D)  Loamy 

54. fuEufyf[kr esa ls dkSu lcls vf/kd ja/kzkodk’k 

okyh ènk lajpuk gS \ 

 
54. Which of the following is a more porus 

soil structure ? 

(A) ØEch  (A) Crumby 

(B) IysVh  (B)  Platy 

(C) nkusnkj  (C)  Granular 

(D) CykWdh  (D)  Blocky 

55. fuEufyf[kr dkjdksa esa ls e`nk rki dks fxjkus 

esa ftEesnkj gS % 

 
55. Which of the following factors is 

responsible for losses of soil heat ? 

(A) fofdj.k  (A) Radiation 

(B) ok”ihdj.k  (B)  Evaporation 

(C) o”kkZ  (C)  Precipitation  

(D) mi;qZDr lHkh  (D)  All of the above 

56. ‘kq”d e`nk dh fof’k”V Å”ek gksrh gS % 
 

56. Specific heat of dry soil is : 

(A) 0-2 dSyksjh@xzke  (A) 0.2 cal/g 

(B) 2 dSyksjh@xzke  (B)  2 cal/g 

(C) 1 dSyksjh@xzke  (C)  1 cal/g 

(D) 2-5 dSyksjh@xzke  (D)  2.5 cal/g 
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57. e`nk jax esa ^Øksek* izLrqr djrk gS % 
 

57. In soil colour ‘Chroma’ represents  

as : 

(A) izeq[k o.kZØeh; jax  (A) Dominant spectral colour 

(B) jaxksa dk gYdkiu ,oa xgjkiu  (B)  Lightness and Darkness of colour 

(C) jaxksa dh ‘kq)rk  (C)  Purity of colour 

(D) mi;qZDr lHkh  (D)  All of the above 

58. ^ckj* izLrqr djrk gS % 
 

58. ‘Bar’ represents as : 

(A) leqnzh ry ij gok dk vkSlr ncko  (A) Average air pressure at sea level 

(B) tehuh Lrj ij ty dk vkSlr ncko  (B)  Average water pressure at ground 

level 

(C) ok;qe.My esa ueh dk vkSlr ncko  (C)  Average moisture pressure in 

atmosphere 

(D) vkSlr rkiØe  (D)  Average temperature 

59. fuEukafdr midj.kksa esa ,d e`nk ueh ekius dk 

;a= gS % 

 
59. Which of the following instruments is 

used for measurement of soil moisture ? 

(A) Vsaf’k;ksehVj  (A) Tensiometer 

(B) cSjksehVj  (B)  Barrometer 

(C) FkekZehVj  (C)  Thermometer 

(D) ih&,p ehVj  (D)  pH meter 

60. fdlh e`nk dk LFkwy ?kuRo 1-52 xzke@lseh-
3
 

,oa d.k ?kuRo 2-63 xzke@lseh-
3
 gS] rks ml 

e`nk dh laja/kzrk gksxh % 

 
60. A soil having bulk density 1.52 g/cm

3
 and 

particle density 2.63 g/cm
3
, the porosity 

of the soil is : 

(A) 43.40%  (A) 43.40% 

(B)  41.98%  (B)  41.98% 

(C)  50.01%  (C)  50.01% 

(D)  43.00%  (D)  43.00% 

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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